dH Ao M3 AGIAs

(Permutations and Combinations)

“*Every body of discovery is mathematical in form because there is no
other guidance we can have — DARWIN**

7.1 ghvar
W& B6 303 % 99 o8 IS BT T Hedn I 1 1 36 fen 3@ 3 99
TII BN ITEMI W RITI@I 0T 93T T 10 MT BT TR TS 13 B § 4 U
T &%, wa § fast gaare, fa uH 393t 5% dfenr 7T AgeT 91 is 36
fom g gt wiat <t few 393te & 9% e, 3078 fage ufgsm wa v 79, €9
wE J1 3 § i Bt 30§ 3% dat et fatut 3t &t 79 s9at 8
u=ait ? few yas @ €399 Bet T AaeT I fa gt et @ afde 9 et &S i |0
A fE9 3 #ig B€ IT Adtt Age 393TaT € get famg aas a1 A€ | U
feg feut sa @< =&t M3 stow I=an, fa€fa fAg= gt < farest <=1 9
Aot 1 few niforfe fEg, it fem yns € €739 @< et fow 39t < aresT
Iasla g9 fAytar, fam &7 3 #at § fast gotgy o123, €39 € Fale |
s fE9 feu 3Tsla THgHT & 9T d96 M3 A% At g fast dt, Jacob Bernoulli
WMEIT-MBIT Ig+ St IaSTeT TT9 SN | ufad uar ST et O o 3 (1654-1705)
fegmg agfar, 7 fev 3data & fifue € et A9 3 <U H&g3 J|
7.2 I1EaT € HHFS AT MUEgS AT HE®' AT’ (Fundamental Principle of Counting)
G Jot &3t mifirr 3 fegmg gadle | Hos &% 3 Uet M3
2 AT 9% | fammg I et €9 Uet mz andtar € f&a 72 6 Possibilities
ufas Aaer 7 ? falfa 8w aw f3a Uer gs, fon »et €n P.S,
a% Ue ga< € 35 39 g5 1 few 397, €7 a® anitw
g6 € St € IS 75 | 39 Ue € 9< BT, aHid g5 &
¢ feasy 75 | fer &t et M3 it 38 dB 3 x2=6
A3 9S&d |

W f3& U &P, P, P i3 e AT &S, S, &M
TEte 3t fegst € Agesr=r § 939 7.1 e Aine 3T
AT AgeT J

g fen 3gt &t fea 9 mifmrr 3 fegmg adle | maaH
3% 2 Ag®I 973, 3 ST & 7S T8 39 M3 2 UST BT
3% 95 | QU feust gt § fas Idfat a5 & a A7
Aaet I (g9 fea f&9 fea 9= @)

P;S,
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AE® gAfant {9 ffd g6 € 2 3919 95 | A3 ©f 9 3 g€ 'S 78 59 ©f 9< € 3 msdr-
WMBIT IdtT I& | for BET A3 M3 e & ST @ 2 x 3 = 6 A3 d=dT | fen 99 fEa 73 &t Uyt €t §3%
ga< € 2 399 95 | fer Bt AuaH § feust 35T Sigm™ S Ag® & & A € 6 x 2 = 12 MSBI-SBdT

BﬁamlmmzﬂaﬁaﬂfyﬂTKB B; 3Hrawsfanrrz§T T, T, M3 2 Uat I8Pyt 8387
W, W, e e @ e, ?fewwahsanmﬁﬂuﬂzaﬂ?;rﬂwm

fgse7.2
Wﬁq@ﬁwwwm@%ﬁ#fé@mwﬁwaﬂ?wwﬁlfgﬁfm@%
JEET T MUEYS (HBFI AT Hed") Uiz AT Auds 39 3 I<& U3 (multiplication principle) Tt
Ffie 95| fewr AUtz »igwa
“Ad TE WesT m MBIT-MIBIT Il &% we Aaet I w3 fer mr (Qudz) fea 33 wea™ n

(VRN

WMBI-MBIT I &7% We Aget J, 3T &3 I8 g 9 €9 weaTe™ @ MIPI-wIIT Idtfan™ 575

weE € I fare3at m x n =397

Suas fruiz § wes=t &t faredt AWz & a fenmua &t a3 A7 Faer 91 Geee € 39 '3,
3 wesTet Bet, fAuTg J&T MEHg J=ar :

“HId T WSST m MBIT-MEdT Idtfa™ &% We Age! J<, fer Quas & J9 weas™ n W ar-
MBI Idtforntt &7 weet T, fer Guas & IHdt wesT p MBI-mBdr Idtfant &8 weet J 37 f3at
weaTer ¢ fen It g fe9 wee <t I% farest m x n x p I=it 1

ufast mifenr &9 U w3 anfte € ufgas € Idtfaut &t 31t fare3t Jot fagtn™ weaT=er &
fear QU3 enat wee € MBI-mIar Jatfant €t farest € 3% At -

() f8a UC ga< € weaT

(i) e oA go= < weaT

THAT MifrT {29, MBIT-w&ar 37 € B3Te Idlfant & I farest Jot 3 wea=t € fea
U3z fex wfea I et MBI-msBar Idtforut &t fare3t © gam9a A -

() fEq a7z § g&< & weaT

(i) T yer & § AT T8 39 § g ©f wesT

(i) & U=t =&t §35 & o< ©F weaT

feg St Afegtut f&g, g9 fa mifrT fET wesT get g 3dtfan 5% we Aaet I | udg mHt




114 afex

fegst Fge gt fS9° fan fea &t S aove o7 w3 fer 9< a3 g feg wea=e © wfes I © madr-
MBI Falfamt & IEET Jae I7 |

Gewee 1 : me€ ROSE € »udt 3 §6€ T8 4 #iydT €, »deYds AT #dedls Heet &t farest usT &4,
7e fq det =t »iyg ggar &1 feum A7 AgeT ?

J% : g8 wre =8 Auet o faedt, 4 wat mavst | | [ ][ |[ | & 99 whwet € few 3 o e 398
T 99799 J, € 91 = fours Sfipnr 72 g gt €t »iug guar &t » AaeT | ufod AaTs & 4 niuat
R,0,S M3 E I Jet feq #ug & T 4 »&Br-mBa1 It &% gfgwm A7 Aaer 71| few 3 o7 gnd
s & f3a gdt niyat &5 et fda & o f3s wEar-m>ar Iatfamt &7 gfemm 77 Aaer 7| fen 3 oo
IS AEs § € MBI-MBIT ISt &% gform AT AaET I M 98 AES § A% fd Idta &%
fewm 77 FaeT T | fen 397 aIes fAuts e 979 AETsT 996 ©f Idtfant S faregt 4 x 3 x 2 x 1 =24
3| fem wet ST muet & fareat 24 T

ﬁaaﬁu?&w—mﬁaéméﬁaff&%mmm ? feg afs mAst 575
AHET 7T At 3 fa 4 uEt mest 99 99 o § a3 ge a4 midar-mdar Idtfamt 7% gfomr
A AaeT J | fen Bet 33T muet € 9% faeSt =4 x4 x4 x 4 =256 T

Gergds 2 . MEIT-MIBAT 39T & 4 $famt &8, I8 MBI-MBIT a3 I7¢ AT ATE I&, Hdd e A3
feg, ifa gnd © &8, € gfant ©f Agas 9= ?

I% © MBI-BIT AA3T T Aftr € uEt AETst & 979 MBIT-MBIT 39T © et &9 fq
€ud3 THAT € 995 € FaE9 J1 Quad uEt AETs & 4 et ST fan & evmam 4 MBS ar
3dtfart &% Ffam™ A AgeT I | fer 3 gie I8 Uat ATs § gat 59 3 $faut &9 fan feq 57 3
MBIT-MBIT Ittt &% Ffgum A7 AaeT I | fen Bt gres fAgs v S31e Ha3t <t farest 4 x 3
=123

Guggs 3 :wdT 1,2, 3, 4, 5 € €33 J9d, faahd™ € wat @ @bt fana Aftprr=t gevebd™ AT Aaet
I&, Had ot &f 293 9-T9 3T AT Aael < ?

de : Afimret § gee € I, 2 wEt mEst | [ | & T Qud o & 9feT 3419 578 995 @
g9 J | €T fearet mas & 99 et A= € feasy g5, Wd 2 A7 4, fen sEt fearet nars € Itfamt
&% gfen™ A7 AgeT J | fere Qudz waTet e nETs UH wat {9 fan <t feq #ia 7% gfam A Ager
I | fa€fa #at & Trg-=9 fomm 77 Aaer 71 fon @&t fene dn feasy g5 | fen o8t gies fAuig 3 €
AT THPAT fARg Aftrret @ &3tet farest =2 x5=10J1

Eeee 4 . U7 MBIT-MIBa1 3T € it I g7 AT T8 AI3T €t fare3t usT a9, fAar § ule 3 ufe
g $font o7 (e © 98 graT 9y ) fanrg JisT A7 Aaer 3= |

95 : e a3 2 AT 3 AT 4 A7 5 3T &% gSTfom™ AT AdeT I | IS WAL 2, 3, 4 77 5 St 7% 955
TB Ha 3T O Ag< fIe3t MBI-mBar U3T adtar M3 feg fegst € A7 o9 e<4r|

T $fan™ 5% g5 T8 Fa3T €t farest 5 Queay $fant &9 € wat rast & fea Qudzs

THAT 995 € 99799 J | IS fE0H &% feg Afemm 5 x 4 =20 J1
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fern 397, I35 o 7% g5 =@ Aa3T &t I farest, 5 $fant <9 3 uat Aast
feq QuUdz THT &% g9& ©F farest € garwa d=ait, feu fareat 5 x4 x 3 =60 T
fem 39t 4 $famt =@ Fagt S fareat =5 x4 x 3 x 2 =120 J1

MI S T AT et faeadt =5 x4 x3x2x 1 =1203 |
for et 9% 831e Ha3T &t fare3t = 20 + 60 + 120 + 120 =320 J |

mfgm 7.1

1. Wat 1,2, 3,43 53 35 Hat @B faabdt Afgsret geebdt A7 Adeit 36 | 799 (1) W
T9-T9 BT AT AAT I< (i) M FI-T9 &7 T AT AAT I< |

2. WaT1,2,3,4,5,63 fdatt f3& wat @@t fang Aftrret sevet AT Age T I8, Add W
TYIT (9-29) BT AT HaE I |

3. WJIGHT SIEHET € Ufa® 10 »ydT 7% 4 »iydT € fd& IF g7¢ AT Ade I&, Add J€t < Wyd
TgIT &7 f&T AT AaeT 9= 7

4. 038&93&@%@?@?%@3@%5%@2&1@33&3%@?%%ﬂaa'aa'f‘asr
399 67 3 HY 9= M3 I Hq i ¥19 3 Tu T9 sTwgET I= ?

5. feg fifar f3s =9 Qefenr aer § W3 a3t & Tan a9 four Fier 31 s3tfmt &t fg=
faegtat T ?

6. fea-fgs gar €@ 5 §3 3 9T I, feust 578 fad MBI-MBIT HAIF I8 AT AJE I&, Had Id
"o 3 &9 2 gfant, féq € Jat graT, &F #das I= |

l[:)-la

7.3 @H AS< (Permutations)
fug® gmar € Gergge 1 <9 »At »iA® ST niuat &bt MBar-wBar 393t fAR 3T ROSE, REOS, .
Wﬁmf&@ﬁmaﬁaﬂﬂhmwf@qw&HMGﬂaymmmﬂwf@q
whigt & feue e g HII=UTs T1 79 ¥ 39319 & 4 »Sar-mRar whuat iS5 mfant § 6 mit fecter
& o grfemT fapr g, fEFI'??Q’H’FIGE(permutatlon)aﬁ?’ﬂ?ﬂUFF!HEI’MFI"TFI’HE’NUMBER T miyat
&9 3 »iudt »aEYss A »IEdts AT §'QS U5, fiE »iygt § T9-9 T93< & feawz &dt I 3F
A& NUM, NMU, MUN, NUB, ..., mirfe 3a3tat & faresT u=ar | feg »rt 6 MSar-mSar »iyat S8 fea
A 3 T § & d 96 & gH HYS (permutation) T IIEST 99 39 I7 | for IgF € ST maet St d&
farest = 6 x 5 x 4 = 120 (T=s U3 € YGar 57%) T

Had Mygt § T9-T9 BT A< ©f feanzs Jet 3T 831 nue’ & fares3t 6 x 6 x 6 = 216 I=4it |
ufegmr 1| @y 9T € fanfaz o fee i3t 393te 9, fam § fe3tt gehi sagw &9 f8a i a9
AT AT IAgmT & & J gSTfemT AfeT 31
Jat f&3 Qu gmar <9, »At O H39 & faaurfas Jatar famet Aga3 fen 3g7 € yrst € €37 e »et
U<t I
7.3.1 FHREES AC HEPHT ST WBAT-HBIT I (Permutations when all the objects are distinct)

yne 1 : 731§mmmmwfﬁ'fwm3rwxgammwme}
ﬁm’ram"Pmm@?w ffg 0 < r < n, TAZMT § T9-T9 TITE AT ©f feAAz &t J;
”Pr—n(n—l)(n—Z) .(n—-r+1)

neg  gu AR wf faredt, rwdtmaat & || ][] (« ra®t mEs) n SAgn iS5 395
g 31




16  Ifez

ufa® mas & n Itfamt 57 gfom™ 77 AaeT J, fon 3 g gHe RS (n — 1) Sdlfant &7, fer 3
g AT AES (n - 2) Idtfeondt &% Ifamm A7 AaeT J, ..., /=T AES [n - (r — 1)] 3ot &%
o 77 maer I fonr et r st Arst & €T 3 gore f&F (in succession) 95 & IS n(n — 1)
n-=2)...n-F-D]Fn(n-1Dn-2)...(n—r+1)I&I
P e'xz"rfwfemmrm)-mm(cumbersome)mewfeafsﬁagTeﬁégﬁmaﬁm
Wfsﬁhvﬂﬂagkﬂmaammﬂalh?gn' (fAR& n SISIHS (factorial) I I&) fom f&g
AT AOTfeaT ader J| Jot a3 fesae fg »rT fiuiar fa wws f9 n! @ »i9g &t T
7.3.2 Eaearn f& (Factorial notation) f6& (Notation) n! ufa®shat n 1{"113('@3’ Afgnr=t @ JIeoes
TOAET T TE I x2x3x...x(n—-1)xnT ISEEH & n! g9 oA Qe I | mirt few g
neaeaB UST TTIfem &8 I x2x3x4... x(n-1)xn=n!
1=1!
1x2=2"!
Ix2x3=3"!
1 x2x3x4=4fen 3g° »iar <t
AT 0!=1ysaz gae It
WAt fBY AaE 9F 51 =5x41=5x4%x31=5x4x3x2!
=5%x4x3x2x1!
Aine J fa yrfafaar Afumr n st
n!=nmn - 1)!
=nn - D@m - 2)! [AEd (n > 2) 3= 1]
=nn—-1Dm-2) (n - 3)! [Add (n > 3) 9= 1]
m@feﬁrs?a’rv“ra?e’rl
Geuee 5: s U3TIT: (i) 5! (ii) 7 ! (iii) 7 1 = 5!
% : (i) 5!=1%x2%x3%x4%x5=120
() 7!'=1x2x3x4x5%x6x%x7=5040
nI i) 7! — 5!'=5040 — 120 = 4920

T 12!
Gvggs 6 : U3T &9 (i) 51 (ii) (101) (21)

{2104

. 71 7X6X5!
J8 (i)§= 51 =7x6=42
- B 12! 12x11x(101) 6 11— 66
s W Goyzy = ogx(z) “ox*ME
|
Gegas 7: HEUBT&H”—,HT?n:S,r:Z
.(n—r)!
5! o 2 .
% : M{HTWETHEUETWU(W‘%(n:S,r:Z)
| |
T 5! _ 5! :4><5:10

© 21(5-2)!" 21x3! 2
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1 1 X
@ms:m§+a—l—m,xwwwm|
o 1 1 _ X
95 fEE R T 5 F 508 T Toxoxs!
X 10 X
fen ®et | A —=
~10x9 9 10x9
few wet x=100
nifsmw 7.2
1. ¥B U3 dd:
()8! ()4 1-3!
N 8! y _ 1+i X
2. WAI3I+41=T717 3 oo €THE UST A | 4F|aa'6, 7 8,,3Tx€Tstu3TaH|
n!
5. —E!"')-I’&'UE"’EIHFE'
(n=r)t’
n=6,r=2 (i)n=9,r=5

7.3.3 ”P’.E’\' et g9 €t fe€3ua3T (Derivation of the formula for "P )
n n!
Pr:(n—r)!’
S wiAt @R miengT 3 TfuR el fHE it dot 83T B89 yus Ji3 At -
"P=nn-1)(n-2)... m-r+1)
MAMITTE (n—-r)(n—r—1)...3x2x 1,3 J' d9& 3, Ag HFer I
"p :n(n—l)QT—Z)M(n—r+1ﬂn—ﬂﬂ(n—r—1)“3x2xl n!

0<r<n

' (n—r)(n—r—1)..3x2x1 = (n—r)V’
) "p = n! o
fem 3gt (n_r)!,fﬂ'ErO<rgn

feg forima, fugst "P. &8 Afeussa T

|
fermgu fe9, A r=n, "P, = g'

IH Age <t T d=s Quat 3dtfant &t aresT I, fagt f<9 f€d AN €9s g9 A Adbrt =g &
feg 3 393ty i3 fapur 92 | faw <t eng 3 fast 3o3tuee, & fore3t €n forest € sowg § fam feo
AT =T § &5 & IIITEST AT fopr I I WS uIT I fF feW Igt a9s e A= X ot
Idtar 71 few met

= o0 (1)



118 dfes
fem ®et, 739 (1) r = 0 BEt S B I |

|
fen et np - ,0<r<n

-~

UHT 2 2 n MBIT-mBdT AT ST feq A 3 r Tz & 8 3 gH Hoe ©f farest, Ae fa sigw™ &
T9-T9 BT A ot feAwz 99, n It T

few & Ag3 fuest Yiw € AE3 <9ar J, fen st mit fem & usar &et &9 39 a7

azer’r"P H3d é@uuawammxﬁh&zmemmaf&mmﬁmaﬁw

ar

Gergge | <9, B3t et & farest = P, = 4! = 24 J, g iyt & T9-T9 g9 <1 feA3
&4t AT | Figg »uat § T/9-T9 gudrge ©f feArz d= 3T BT Huet €t fare3t 44 = 256 J=att|

6|
3!
fen nfast feg »iuet § T9-=9 < & ferazs &7t | Fa9 »ug T9-T9 < ©f feraz e 3T 33T
AEet ot fareat 6 = 216 24t |

12 feradtt € g g <9 T 9mars w3 feq =fen 9nighs & ga< © Jatfant €t farest,

—. (o V] . ~ . 6 s
"Y€ NUMBER 3 f3& niUgt 5% 96 @& Agot €f fareat= =4 x5x6=1203<d, feg

12!

feg s o fa fea femast § féa ot mige fvdar, aume gu fee ‘2P2—10 =11x12 = 132 J=4it |

7.3.4 FHHEGE A€ AGPHT SHZHT MBIT-HBIT 3J1 I& (Permutations when all the objects are not
distinct objects) W& & wAY wgE ROOT € »iydt € feg 3 39319 d9s € Idtfant &t fareat usT gaat
3| few Afast f<, A9 g f9a-fds &dt 5| feg € 0 g5 7 fa fea 7t 3g € »iug g | Mt mimeTet
39 '3 fegst €9t O § MBI-»BaT ¥is < It fAn IgT 0, »3 0, | 7= few Afgst ST 4 MBI »Bar
niygt fE9" feg Tt A 3 A9 g < 7% 96 T& gH Fuc ©f farest 4! 71 fegst g fee oo e
gH F9E RO,0,T 3 feud &7 | fen € Harz fg 2 | g 79 RO,0,T %3 RO,0,T fen 3§t € 95 # fx
39t € A AYE € HAT O, @Ozénﬁa—mFmﬁWWﬁﬁaﬁoln@q@wW

Fo< &9 0 g2 | fom et g fee &t &3iet fareadt = — = 3x4 =12 |fen § Jot mime digT AfET J:

FH HIS A< O, O, MBI-MBIT I6 | gH A A€ O, 0,, O € ¥9™89d IS |

RO,0,T ROOT
RO,0,T >
TO,0,R | TOOR
TO,OR | >
RO,TO, | ROTO
RO,T O, | >
TORO, | TORO
TO,RO, | >
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RTO,0, | RTOO
RTO,O, | >
TRO,O, | TROO
TRO,O, | >
0,0, RT] 0ORT
0, O, TR | >
O,RO,T | OROT
O,RO,T | >
0, TO, R FOR
0,TO R > OTO
O, RTO, | -
0,RTO, | > ORTO
O, TRO, | OTRO
0, TRO, | >
0, O,TR | 00TR
0, O, TR | >

WG g MAT HE€ INSTITUTE € »iydt @ feg 3 I93tg & Idifamt <t fare3t u3T aqte | few
AfaSt fE9 9 nivg s, fagt fS9 1 € T W3 T 35 =9 wfer 31
wHETet gu iR »ift fegst »iuat § »i@dar-»@ar i 8 o fAm 3971, 1, T, T,, T, | 9 mSBar-mSar

1772

Wxﬁaﬁwwﬁwrxsa%gﬂme‘ffam%wErlfsnfe?fssrg)-rm)-rasél NT, SI,
T,UET,3 feg9 ad|feg Aaq I, »3 I, fed fad s J& M3 T, T,, T, e”rfesrfﬂtra‘razgl I, 32!
W(W)WW&?@WWUWT T, T, 33'3ﬁfawrmsas’raaﬂywwal
T—IH'HI],szEHfHUUE'H{S’T],TZ,TgﬁFTfEHfﬂUUEBTZ'x3'§HH€€f€HfﬂUUﬁTIﬁH3§TLF€HT8

EN

mmwm@rwf&@ Y JI

it Jot fast yiw (fast AE3 @) ufegms Jee ot -
UHT 3 : n SHIAT & g Aae ©t farest, fig p sngat ffq 39t &bt I w3 g7t M@ ar-msar de
n!
=
e &g fen fiu fee w3 g% fEa 39 femmua yiw J1
UHT 4 : n IHSAT € g0 HaE ©F fare S, fawm <9 p, st fea 3gt &bt p, =gt gnd gt &t ..,
n! N

p, AT K IgT Epodt w3 TSt 7 et 3fT et IR mBar-msar 3§t Ebott I, e J
ppl.. py!



120 afez
@9 9 : ALLAHABAD HE€ € Wydt 3 96 &% gH HY< < farest usr aq|

i% : few mae 9 9 »ivg 95, fagt fE9 A, 4 =79 wifenr 3, L € =79 »ifenT § w3 g7at ATd M- mz&ar
9! 5X6XTx8x9

= =7560 J1
412! 2

7% | fer et @i Aee ©f &3tet faest =

Gugas 10 : 1 3 9 3 € AT & TIF Jdd, 4 WA+ gt faatt Aftpret geTebdt AT AgE T 5,
A9 WAt § gI9TgT € ferAz &7 I
I% g et ' g HISTYEs J, BedT € BET 1234 w3 1324 € midIr-widar Afierret 95 | fem set
4 gt Aftprr=t €1 fareSt 9 »Ear-»Far #iat fS9 fed AN 3 4 7T § 8 96 8 gH A9e ©f faest &
a L e . . . . 9! 9! a
WUI@FW4WWW@@B‘S‘I€TW=QH=(9 4)':;=9x8x7x6:3024Ul
Eemaae 11: 100 3 1000 3T € fegag, Wt 0, 1,2, 3, 4, 5, & & o fast Aftpr=t gEretrt A7 AgE it
5, 799 WAt § T9-T9 B ©f ferAz &7 I
9% 1 100 M3 1000 € fegarg g9 fea fAftrnr f3sm viat € 31 ufost wit 6 wiat S5 fea an 3 3 Wt &
® J 936 T8 gH Ao €1 faredt usT gae ot | feu After °P, 71 UF fegst g e f<e Gu =t wivs
75, fagt 9 0 (fAg9) Aa= € mars 3 71 @uade & &8t 092, 042, . . ., wirfe fem 3gt Thwt Afirret
I5 & »As &9 2 #at &t g5 | fen set 831t farest yuz J95 &et A few 3gT &bt 2 wiat
Aftmiret €t farest & OP; &9 we@e u=ar | g fegst 2 wiat Afanr=t &t fare3t usT J9s © et wAt
0 & A3 € AE'S 3 Afgg a9 fee gt 3 gat 5 wat &9 fea Al 3 2 #ia § & J g6 BT 3a3tar
&t farest usT gee gt | feg farest P, J1

. 51
f‘snm’ra‘:ﬁﬁfam’r:ﬁgﬂg:%_%

=4x5%x6 —4x5=100
Eeade 12 : n €7 H& UIT 4 HAT :

1 n n . ni—é
(1) P5=42 P3,I’l>4 (11) n—lP4_3’n>4
as . () féarag;
"Py=42"P,
Gl nin-1Dm-2)n-3)n-4)=42nn-1) (n-2)

faGfar n>4 IR BE n(n-1)(n-2)#0
ST UH n(n - 1) (n - 2) & 791 d96 I, Ag fiser §
(n-3)(n—4)=42
2 —Tn —30=0

n”—-10n+3n-30=0

19
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Gl n-100n+3)=0
C L n—-10=0 Cu n+3=0
|t n=10 |t n= -3

fa€fa n fae=aHa sat I Aaer, fer &gt 1 = 10.

"P, 5
"p, 3

(i) fear g
few et 3nin-1)m-2)(n-3)=5n-1) (n-2) (n-3) (n—4)
ar 3n=5m-4) [fa€@fam-1)n-2)n-3)%0,n>4]
|t n=10

Geage 13 : rETHB UIT I HAT 5P, =6 P,

J5 :f83r T 5 *p =6°P

r—l1

41 5!
" R T F—
' 500 65!
Hr (4=r) (5-r+1)(5=r)(5-r-1)!
Gl 6 -G -r=6
G = 1lr+24=0
|t P—8r—-3r+24=0
Gl r-8@r -3=0
Gy r=8 # r=3

few met r=38,3
€¥ga= 14 : DAUGHTER HI€ € %ydt 3 8 »ydT T8 MBI-M&JT 39319 o fare3t u3T a9, Add
(i) A9 A=d (Vowels) fedd I (i) A9 A=T (vowels) fedd &7 g
4% : (i) 79€ DAUGHTER {39 8 MIar-»aar »iug 95, fAgt f&9° A, U M3 E {35 Ae9 9%, fa€fa Ag
A9t & feds gfaer 9, fem wet a¥ AN Bt WAt fend fedd € @Az (AUE) W &€ 7| feg feast
TAZ TTGT 5 MUt 578 WS o 6 THGAT (Wu9) T Arear | feg wHt 6 =Hgt LT feq ot mi feT Arfonrt
& B J 96 T8 FH A (Permutation) € farest aae ot | feg farest °P, = 6! | few 9 fea gy Age
(Permutation) € HaT3 A8 a&% f3& AST A, U,E%@‘Wéﬁaﬂﬁﬁ'a’fﬂ Q’HﬁEE(Permutation)
g=v I5 | fen B8t IIes fus wgA™s @ A9< (Permutation) € BFtet faleadt =6 1 x 3 1 = 4320 J|
(i) #T WAt FH A9 (Permutation) € €7 fare3t uzr a9at I, faw f&9 79 Aeg fedd =dt
& 3wt ufgst 8 nivat &S fea Gt A 3 A9 niuat & fedsT & o 96 & 39319 (arrangements)
&t fg= fare3t usT Joat u=al, 7 fa 8! T feg fen farest &5 it e Aeet § fedor sfos & g
TB FH AGS (Permutation) € fare3t § wer=tar|
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fen et F3tet farest 81-6!x3! = 6!(7Tx8-6)

2x6!(28-3)

50 x 6! =50 x 720 = 36000

Gemee 15 : 4 &%, 3 WISkt w3 2 9ot farat & feq Uarst <9 faa 397 57% 39319 (arrange) 13T
AT AaeT J, Aad fear It 391 bt famat fe9 JEt %39 (indistinguishable) &7 I ?

7% : fanat & a4 fare3t 4 + 3 + 2 =9 71 fegst 9 fawat i 4 f€q 3g7 &t (%), 3 AT 3g7 bt
(Ut W3 2 AT 3gF bt (Tdbeh) T |

9!
4131 2!
@egg= 16 : INDEPENDENCE H¥€ € "ydt 3 96 8% 3IJd319" (arrangements) T fare3t uzT a9 1
fegst 3a3tat <9 -

(i) fd& mge P& HI I€ I8 7
(i) fafewt fEg A9 A=T onm feds afde a5 ?
(iiiy fafem fEg A=g a< <t feds &dt afde ?
(iv) fda Hee 15% Hg W3 P 578 U3H J€ I8 7
7% : &g 12 »ug 9%, fAgT {9 N, f3 =79; E 979 @79, 3 D € @79 w8Tr I W3 g7dl °ATd "yd M&dr-

few ®et famat & 39319 (arrange) F9& < farest =1260 JI

‘ a2
WIFaT I | fen et e a3ty < farsst =3‘142"2'=1663200 JI
(i) It P& U9 99 AF 3 Ufgd AE's 3 AfEg a9 fee of w3 feg oat 11 Wiug' 5% g6 & I3t
=~ . = ~ . ' =S
&t greaT gge IF | fer BEt P 3% §g I & Ayt ©f faest =%:1386OO JI

(i) o3 wae ST 5 A9 9%, fAgT 9 4 T9 E w3 fea =9 17| faffa feast & ovmr feds afoer g,
fen »et g3 A @3 fegst § wit feq ot =ng W& 8% gt | feg feadst @ng gdt 7 gt
(FAST) &% 1% I I& § TAIAT T AreaiT | feast 8 sagw f[Re 3T N w3 2=9 D J, few

! ~ ~ o -~
—3?2' Idtfat &7 feg 3 3331T T AdeMT I& | fen 99 fea 3939 € °A913, S A=J E, E, E, E W3

I,%Wmmaﬁwm@mmwmmimmam

| | a
=8 16800 31
3121 4
(i) FI II3T < fore3t = %I93t < fare3t (fast fan gfew @) - 3331t <t farest fam fee
A H=d WA fedd I = 1663200 — 16800 = 1646400
(iv) WM& I3 P& fAfent 3 (1§ 48 w3 P & He AT ) Afgg J91T | g A8 a% 10 »uad g5 | fer et

. o 10! =
II3tgt € F3t farest = m:l%ooal
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Mg 7.3

1. 1393F € WM™ € Y&l a9d 35 W™ et fastit Aferet g€ Aaetit 95, Add far =t #ia
& TaaTfenT 3T A= |

2. 979 wWat St Afewret & farest ©F faw 9 agt <t wia gaarfenT &7 3=

3. W&t 1,2, 3,4,6,7 €t 93 &% 35 wat @t faastt fanz Afunwret serebyt |77 Aaetit 36
Hdd JeT I A ggdTenT &T 7= |

4. W&t 1,2, 3,4, 5T 93 &7 fAatit 4 Wt Tt Afer=t gt AT Adeit 36, Add a8 <
W gadrfedT &7 A< | fegst fe9 fashd™ fara geahut ?

5. 8 fera3tt €t féa st &9, mit fas 39T 5% fEa yus w3 & U yus g< Aae of, feg
Hov 3¢ fa fea femast ffa 3 2u »ige 3 oqt Ifg Aaer ?

6. nUIT &I HAG " 'P,: P, =1:9

7. rU3TII HAG (i) °P.=2°P,_, (i) °P.=°P_,

8. EQUATION He€ ¥ A'd »ydt €f 93 &% fds wag @8 AT »dgdle Hu< §7¢ A A< I6,
AC I9 fEa »iyg ©t 293 a=% S sg gt atst A= ?

9. faat det »fug €997e, A€ MONDAY € WydT 3 magr @& A fga »iggt T8 Hue g€ A Ade
J&5, Had
() & AT 3 4 »Yd BT A IS | (i) € A 3 AT »iyd BT A< IS |
(i) AT #ydT @ TII A3t ATET I, U Ufa®T »iyg A= I ?

10. MISSISSIPPI HEE & #ygt 3 9 MBIT-mBdT gH Ao S, fafent f&g 99 1 feds st mEe
I 7

11.  PERMUTATIONS He€ € #iygt & fa& Idifant &7 393t a3 77 Ade™ J, 790 ¢
() HE€ P 3% HY d< 3 S &7 HIH d=
(i) A9 A=T fedsd I=
(i) P w3 S fegdrd oHHT 4 »iyg g ?

7.4 WGHS (Combinations)

75 B8 fa f3s &% fan fuswait X, Y, 2 & €7 myg 9| f&q 2 fam fe9 2 fusmat 9=, geret At
J1 fem & mirt f&a Idtfantt 7% gg Aae It ? &t X M3 Y &F e, Y w3 X &t e 3 fgs (n@an T 2
feg g0 HI3=TYTs &0t T | A 9 2 g8 © a=s 3w ot fige 34919 95 | feg XY, YZ M3 ZX 35|
(fS39 7.3) 1

O © O

939 7.3
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feg g9 e 9, 35 MBS a1 ezt &9 fEa mi S92 & & d gerfen fami AAHs (Combination)
gur@er I fan Feins 9 g HIS=EUTs &dt ge | w€ g9 J9 Geruaet 3 feug adiT |
fea o fE9 12 fomast fiuse g5 W3 99 ffa fouaat gt Afont &% Jg s @er 31 39
i@ €t % farest wit fom 3gF UST A@ AAE T I X & Y &% 38 fisfenr m3 Y & X 575 79
fHetfemT, € MBar-m3ar Ju HeGer a4t g5 | fEF gy wIS=yas &4t I 138 i@ & 9% farest €3t
Tt I st 12 mIBar-wSar sagnt &9 fda 7t it 3 2 g™ § & § 95 8 Auns ©f farest 31
fea Jag 3 7 foT nfas o& | feost fagmt S fan 2 ffewt & s a fastt Fleret fdghut A

AT I& ﬁe”ﬁraﬂwe’rawhm’r@ﬁa’ra hﬁ7mwféﬁfwa’rm32wx
& o 95 % AGAS ot fare3t|

T it n MSBIT-mBa1 TGt T € It AN 3 r g & 8 T 985 o8 Huds €t farest, fam
& 98 "C_ &% TIA8 T I, UST J95 BT H39 Y3 JaT JF |

W& B9 A8 d& 4 MBI-M&BdT 3T A, B, C M3 D 75 | fegst ST Aag fda My 2 sagn § 8 &
AWHS gSTErE 37 feg AB, AC, AD, BC, BD, CD 75 | €8 AB %3 BA € It Aeas gs fa€fa =g
T gH AHs § Ud=df33 &dt gaer| fedt aas I fa »irt get f&9 BA, CA, DA, CB, DB W3 DC &
AHS &dt 37| fen 3T 4 MBIT-BaT THIHT S feq It A 3 2 Tt § & T 925 =8 AEFs &t
faredt 6 I, 3= “C, = 6

fen pet ST 99 €T AGws € A9 Ag 2! @ Ao & Aae Is faffa g9 fea rams et 2
FAgHT § 2! Idtfatt 375 feg 3 I93Te 13T A7 Aaer J| fem et g Aee & farest = ‘C, x 2!

THY U™ 4 MBaT-mBdT gt i fea t i 3 2 =g & 8 9 95 o8 g Ao ©f farest
= ‘P

2

fem wet P,=14C,x2! H

M
(4-2)12!

2

e W& 39 fa A3 3% 5 MBdr-m&a1 g™ A, B, C, D, E 75 | fegst i< féq ot An' 3 3 =agmt
???S'H'Ho(d AT AEHS W@E’U"’E{TfEUABC ABD, ABE, BCD, BCE, CDE, ACE, ACD, ADE, BDE
35 | fegst °C, AtiAs € 99 R € Aar3 3! g Aee I6 faBfa 99 ffa Aurs et {3 =it § 3!

Idtfoantt &7% feg 3 393tg 3T A AaeT 71 fen et g fAg< < 9% fareat = °C, x3! T1

|
fem &€t °p, = °C,x3! or ;:ch
(5-3)13

feg @ergast v AveT W3 Fuds € f<v iy gEe ==t Jof &3t i fée o=

UHE 5: "P. ="C, r1,0<r<n

AET : 99 ffq AGHS "C € Har3 m—ga?;r'wma—e'a?? faSfa g9 fea rms et r =AM §
r 1 FRfe 37 fag F IIIT otz AT e T |

fer Bt n MBIT-mBaT TG ST ffq ' r =AgAT § B ¥ T8 gH HIe &1 faredt 'C x r!
J1gnd uw feg "p, I fem et

"P.="C,xrl, 0<r<n.
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|
efet | L6wWwT ——="C xrl,g=ic oM
(n—r)! g r!(n—r)!
|
fermgufeg fAgd r=n, "C, = :1'0'=1
- n. v
2. WA 'C = 1, Y3 da€ Tt, I= n MBI-MBIT I|AGAT IS et <t THI BT fust o5 B

AGrs <f fareat | &t ATt I | itHs €t aieaT 946 3 97 Jdifat dt areaT adaT 3, fan fe9
g A AT AT €t 8 It A 9 1St AiEt J1 3% & 3T 9< 996 3 I I AT @R
& fig g5 »3 »ift A O fq feg d=w ffq It I&la 5% T Aaer J1 few 397wt 'C, = |
ygHg Jae It |

3. fa@fy — U __i-rc, feRmE@ I 'C, = — 1y =0 =¥ <t &l T, few mE
0!(n—0)! = ri(n—r)!

n!

"Cr=m,03r3n.

4 e = n!

" (n—r)!(n—(n—r))!

n!
- (n—r)ir! ="C,

=, n AT ST r TAGAT & I FT&T, (n - r) THSHT § MARIAT 95 € 9ITET J |
5.'C,="C,=> a=b Aa=n-bI<,n=a+b

z{;l-q 6 : nCr +n Cr_] — n+]Cr

n! n!
et grEe g "C,+"C_, =
FE i T G S =4 1),




126 dJfez
Gewes 17 : #a9 "C, = "C,, I= 3T "C,, UST AT |

75 f&3T I ", = "Cy

n! n!
SR 9M(n-9)! (n—8)!8!
. 1 .
Hr 9 -8 A n-8=9 H' n=17

fer met "Cyy = ]7C17 =1

Eegae 18 : 2 mrerbit w3 3 miaaT € myY &9 3 fematut & fea rfust gt 7ret 91 feu fas 39t
&% T Aa<t 7 ? fegst f&9 faatu™ afugtrt few 397 &bt 9w, fam 9 € Hae w3 2 wigst 9= 7
7% : 88 gW WI3<yYas a4t 9, fem Bet mit Ftins €t aIeaT a9t J | &7 Afistrt €t farest €&t of
J At 5 MBS T-mB T femastnt {5 8T AN 3 3 § & I g5 & Auns ©f farest 71 fer wet afvst

5t 4xS5
322

ge@e & Idfat &t aatet faest °C, = 10

T 2 vrerirt &S ffq mirert €t S« °C, Idtfort &% w3 2 #a3t &t 3 #ia3t &9 I °C,

. - N . o o 2! ! N
Wwamﬁmﬁxﬁnﬁ-@me’rﬁﬁﬁm’r2C1x3cz=ﬁx%=6zr|
Qurggs 19 : IW &t Jidt @ 52 Ufaut f& 4 Ufamt &t 9= fas Idtfont &% T Aaet T ? feast
Fdtfamt e, fas <9 -

() STUSfeadtree as ?

(i) V9 US T MBI MBI 37 € AT € TS |

(i) IALIIT IS ?

(iv) U BB IITTMI T UI IH JIT & IS ?

(v) AT U3 e gt Jar & a5 |
75 1 52 Ufant iS4 Ufamt & gae © €3 T 3319 95 A8 52 mBar-wSar engnt &9 fea mi 3 9
TS & T 95 B AGAS |

— o N o ‘
fer &et 83te Idtfant &t farest = ¢, = 52 _ A9X0X51X32 _ »70925
4! 48! 2x3x4

(i) 3™ €t Jiet f[<T 4 Het € U3 s, fe, fost, g, yan3 saffa e 13 U3 us I fem set 4 fee ©
U3 gae € °C, Idta 75 | few 39T 979 fest € U3 g5 € 1°C, 4 gaH € U3 g&< € 1°C, 3 979
Us € U3 g&€ € 1C, It I5 |

fem set Fatfernt €t STt farest = °C, + °C, + °C,+ I°C,

! -
= 4x£:2860 JI
4! 9!



(ii)

(iii)

@iv)

V)
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J9 feq 39t € 13 U3 75, fen set fée & 13 Ufant &9 ffq U™ gae € °C, I6la 95, U € 13
Ufant fiS9° 1 &< € °C, fagt € 13 Ufamt i3S9 1 U3T g&e € Idta 1°C,m3 g & 13 ufpnt
fe9 1 U3T gae € I °C, 75 | few et gres fAut3s 3, &3t Idtfant € farest
= 13C, x BC,x "C x *C, = 13*J|
3w <t diot f<9 J% 12 In<ler T8 U3 75, fegat 12 9 4 U3 gae I& | feng >C, Iatfarnt

WWWW%IMMW@W%@T:%=49S

dict {9 26 8 Ja1 € 3 26 T JaT € U3 95 | few &et e Idtfant &t fareat = C % *C,

2
26! 2
:[—2! 5 4J =(325)" = 105625

26 3% Ufant i 4 378 U3 gae € *C, I 5126 I8 Ufant iS5 4 a8 U3 gae € *C,
It T |
|

o o . 26! =
fem et 3te Fdtfeont &t farest = *C, + *C, = Xy = 29900 9|

nifsmw 7.4

Had "C, = "C,, 3 "C, U3T &9 |

n U3T g9 Ha9 :

(i) »C,:"C,=12: 1

(i) >C,: "C,=11:1

fea 9aq 3 Afez 21 fieut 3 T T AT T8 fastt =397 (Aier=’) ffeghit A7 Aaehit g5 7
5 BIA MI 4 FIAAT ST 3 BIF WMI 3 BIAT Tt ST g8 € fas IS IS |

6 B JIT EbAT, 5 AeE JaT T M3 5 BB a1 et diet {9 9 giet § ga< € Idtfat &t
fare3t usT 99, Aag g9 fEa Aarfo <9 99 fea Jar &bt 3 et 3|

52 Ufamt & feq aist @9 5 U3 & o 96 @8 AUASG < fare3t u3T a4 Ad9d J9 v Avds feg
feq M3 fAge fea fear (wam) 3= |

17 fuzratmt &9 fan fe9 a=& 5 fysTdt SregHt 99 Aae I5, 11 fuzahdt €t 9< faa 3dta &%
SISt A At I, A9 99 fea 2 ST fiage w3 fAde 4 dress wfis 3= ?

o 88 fS9 5 TBIT I 6 BH JieT I&, 2 TBHT MI 3 FH drer af 9 & Jatfat f farest
U3T J9 |

9 Qumeay st 25, fEa fefemmadt 5 usqit &t S< fad 397 % a9 FaeT 7, A9 79 f&a
fefemmadt et 2 ferm usgH Agdt I |
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gea® Gegge

€@ 20 : mgE€ INVOLUTE € »iygt 3 3 A=at »3 2 fenirst =8 »agyds A negdle faa mee
g AT AT I6 |
J% : A€ INVOLUTE f@9 4 A=d LO.E,U M3 4 feriAs N, V, L 3 TI& |

4 {29 3 A=T gaT & Fdtfet &t farest = C, = 4

4 139 2 ferivs gae € Idtfont &t farest =4C, =6

fen st 3 A= W3 2 fonias @ AGAaT of fae3t 4 x 6 =24 T

g< fegst 24 Aenst feg 99 8 ST 5 »ug g5 | feust § »mun 9 5! €ar && ISSg 3T AT
AaeT J | fer Bet MBar-w&ar Hget ot &3tat fare3t 24 x 51 = 2880 T |
Eergee 21 : fan Ayo ST 4 B3I M3 7 B39 75 | fegst ffg 5 Haat & ffa 2 &t 9= fad 39t
&% =St AT Adt I Had e L9 (i) ffF <t &3t adt T (i) We I ue fEq s3ar W3 e &34t T
(iii) Wi 3 Wie 3 FIAAT IS |
3% : (i) fa€fa v f<g aet <t s=at mfis adt, for BTt d=% s3fon € 9 J9at J1 7 B3farnt e

120 2
(i) fa€fa gg ffq 2hi i We 3 We ffa Baar w3 fea Badt 3= Agdt 95, fen &t 2y <t 9= few
3gt g=qit :
(a) | BIFT WMI 4 FIJabdT  (b) 2 B3 M3 3 BIAAT
(c) 3 BII MI 2 BIAMAT(d) 4 B M3 | B3t |
1 B3I M3 4 BIFAMT & I 'C, x ‘C, Idtfant &% 3T A Aaet I
2 B33 M3 3 BIAMAT & I 'C, x ‘C, Jdtfent &% 1St AT AaEt J|
3 B33 M3 2 BIFAMT & I 'C, x ‘C, It &% St AT AaEt J|
4 B3 M3 | 3T & 9 'C, x ‘C, FMfeont &7% St A7 At I
fen set B3te Idtfant & farest
='C, x*C,+7C,x*C,+'C, x *C,+ 'C, X *C,
=7+84+210+ 140 =441 J1
(i) fa€fa e fee We 3 Wiz 3 BT TSt Iratett g5, 2 few 39+ g AaeT 3
(a) 3 BIFAAT M3 2 BIA A (b) 4 BIPAT MI 1 BIAT
fours fe@ fa 2 fee At 5 B3t &dt § AaEHt faBfa saatt & farest a=s 4 31
3 BFAMAT MI 2 BFfeort T I “C, x 'C, Jdtfott 18 T At I
4 BIAMAT M3 | BIF &F I ‘C, x 'C, Jdtfani™ 578 T At I
fen set B3te Idifant < farest
=4C,x"C,+4C,x'C,=84 +7=917I

5 B=farrt € e 'C, et &5 St A Fret 71 fe wEt St farest = Cs 21 3
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Eegge 22 : AGAIN HET € A9 #ygt € 93 3 MIgYde A MIEdIS ST AT AdS % Haer of
fare3t usT &9 | Haw fegst maet & fen 3¢ faft A= fAn 39+ Feeaw feT feue of, 3T 50 = mee
ara?

7% . mE€ AGAIN f<9 5 niug 95 fAgt f<9 A € =9 »rer 7| fer et maet & 31t farest = 5 60 J1

AWYd 3 HY I I 95 % A¥CT €1 fare3t U3T a9s Bt vt A & ¥F JF ufgd Ae's 3 Afed J9

fee at, feg »irt grat afde T79 »iua™ iS5 Aot & & & feg 3 39319 oo ot | feust I3t &t farest

at It 9, st 4 MBar-wBar =gt & €3 Mt Afen™ § & 95 T8 gH Aae < farest fom zet
4

A 3 Hg € =8 muet &t faedt 4/ =24 J1feg G 3 ¥I T § 95 =8 mue o faest = B =123

faSfa G & A8 3 ¥9 UH ufo® FE"s '3 Afad J96 578 A8 38 A, A, [ 3 N g4t 3fde 75 | fer 3g7
1575 §g d< =™ muet € farest 12 I1 fen 397 g ST YUz nuer & fareat =24 + 12+ 12 =48 9, 7=
492 wgE NAAGI T | fer gt 50T 92 NAAIG J1

Qemas 23 :wat 1,2, 0, 2, 4, 2, 4 €T =33 &% 1000000 I =T Tt (bt st Afipret et
A" AT IS |

J5 - fa@fa 1000000 fea 7 wat St Afadr § w3 Yaar a3 7€ @3 wat <f farest < 7 71 fem &gt
=% 7 wiar €t Afvret € aresT gt St A=t | fa@fa Afir = 1000000 3 F3T I Hget I, few
®et feg 1,2 A 4 7% Hg J=<4it |

@ _4x5%6
| 3% Hg & TBMT Aftmrr=t &t farest = 10 2

’Z Afgg a9 fee of I feg gat a1 0,2,2,2,4,4, § feg I Ia3tg dae of, fAgi ffe 39 2m3 2 =
4 mrgeT g1

=60 3 fa€fa A€ 1 & A9 3’ ¥¥ AEs

6! 3xX4x5%x6 N - .
2 7% Hg < BT Afenrret & fare3t = o > =180 J1 4 &% HY I BT

Afprret &t farest = _4x5x6_1zoa|fense°rrrfuwwe°rasﬂ€rﬁm°r 60 + 180 + 120 =360 J |

feasfua feat

7 vigt & 333tgT <t fare 3t AURe 39 T ﬁ—4203 ug fen feg Gust Aftmret & farest <t arfus

3, fagt f@9 0 ufa® 98 Fmams 3 71 feast 3a3tet <t faest 3, 3121 (0 & fasg® ¥e ufgd Aes '3 Jue

‘T =607
fem set tatt Aftprrat & fare3t = 420 — 60 = 360 T
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Jfes

vfenm Arer 3 fa fan < ffierr fS9 #at e yGar €5t ¢t =9 a3 A7 AaeT 9, fist @9 €9 pat
f<g f&3 ae g5 | @ergde € 39 '3, Cuast Gewae <9 1 3 0 & fAge feq =9 <afam™ 7 Aaer
g, Ae fa 2 w3 4 & gHed 3 =6t M3 2 Tt Faf3mr A7 AgeT I

Eege 24 : 5 BT M 3 B3t § K darst S faa 397 7% gorfewr a7 Aaer J g Jet <
€ B39 %55 &7 go< (afge)|

d& ot ufgst 5 It § faer fee o, feg wirt 5! Iatfat 7% a9 Aae ot | fen 397 &t 99 fea
393t B, 35 s3fanit § a=® g7 € wone foms 3 fasten 7 Aaer I

xGxGxGxGxGx
JIet € fous 578 TINE 6 FETST 3 3 BIfat § °P, Iatfanit 578 faatienm AT Aaer J| ferr et

e faatg 3, fegst Idtfant €t 95 farest

6.

|
= 5! X6P3= S'X%

=4x5%x2%x3x4x5%x6 =14400

MIHE 7 '3 §2a® MITHTH

. DAUGHTER R¥® € #yd" 3 {8 »aguds A »@gdle Reet € 3957 d13t A7 A<l J, Aefd 99

ae f&9 2 A= W3 3 fenidas J= ?

. mg€ EQUATION € Ad »lugt & fed A & & fdd »@guyds A »iggdie HeE ¥ A7 AAE I3,

e A=d M3 fenias feds ms 2

9 BIF MI 4 FIatT T 7 I e ISt g=et Aret 71 feg faa Idtfam™ &% =gt A7 Aaet
J, a9 st i :

(i) fig= 3 FIAT I (i) We-ule 3 BIAMHT I (iii) TU 3 2T 3 FJaT I |
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